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00000000000000000683%000000000+1.141u/ V5 = +0.510u
0D000000000000095% 000000000000+4.303u/ V3 = +2.484u
0000 ty1(z%)/YNO NOODOO Fig6 0O OOFigdD 000000

Table 1: Student 0 OO0 0000 ty_1(z%) OO

000 |000 in-1(2%), 2(%):000
(N-1) | (N) [683% [ 90% | 95% | 99 %
1 2 1.837 | 6.314 | 12.706 | 63.657
2 3 1321 | 2.920 | 4303 | 9.925
3 4 1.197 | 2353 | 3.182 | 5.841
4 5 1141 | 2.132 | 2776 | 4.604
5 6 1110 | 2.015 | 2.571 | 4.032
6 7 1.090 | 1.943 | 2.447 | 3.707
7 3 1.077 | 1.895 | 2.365 | 3.500
8 9 1.066 | 1.860 | 2.306 | 3.355
9 10 1.059 | 1.833 | 2262 | 3.250
10 11 1.052 | 1.812 | 2.228 | 3.169
15 16 1.034 | 1.753 | 2.131 | 2.947
20 21 1.026 | 1.725 | 2.086 | 2.845
25 26 1.020 | 1.708 | 2.060 | 2.787
30 31 1.017 | 1.697 | 2.042 | 2.750
40 41 1.013 | 1.684 | 2.021 | 2.704
60 61 1.008 | 1.671 | 2.000 | 2.660
120 121 1.004 | 1.658 | 1.980 | 2.617
pos pos 1.000 | 1.645 | 1.960 | 2.576
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Figure 6: N vs ty_1(z%)/ VN
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Table 3: mass of constant volumes of gas (at constant temperature and pressure) isolated by romoving oxygen from air or generated
by chemical decomposition from nitrogen compounds.[[J O O O 1, p70]
Fromair/ g 231017 2.30986 2.31010 2.31001 2.31024 231010 2.31028
From chemical decomposition /g 2.30143 229890 2.29816 2.30182 2.29869 2.29940 2.29849 2.29889
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00000000000000000000000000000000ABOOOOOOOOOOOOOOOODONO0OOOOn
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0.00014(3), Ng = 8, x5 = 2.29947, up = 0.00138 0 0 0 0 usp = 0.00102, Tap = (2.31011 — 2.29947)/0.00102/ (1/7) + (1/8) =
20200000000000 13=7+82)00 21600000000000000000000000000M 0000
99.99% 0000 5500000000000000 M
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15 Appendix: Fortran program to calculate f,,(7)

c23456789
c Student t distribution
implicit real*8 (a-h,o0-z)
pi=acos(-1.0d0)
do m=1 , 100
if (mod(m,2) == 0) then
c - Gamma (m/2) routine for even m
if (m == 2) then
gam2m=1.0d0
else
gam2m=1.0d0
do i=m/2-1, 1, -1
gam2m=gam2m*real (i)
enddo
endif
c - Gamma ((m+1)/2) routine for even m
n=m/2
n2=2*n
facn=1.0d0
do i=n, 1, -1
facn=facn*real (i)
enddo
facn2=1.0d0
do i=n2, 1, -1
facn2=facn2*real (i)

enddo
gam2ml=facn2/2.0d0**n2/facn*sqrt (pi)
else
c  ----- odd m ---------
c - Gamma ((m+1)/2) routine for odd m

if (m == 1) then
gam2ml=1.0d0
else
gam2ml=1.0d0
do i=(m+1)/2-1, 1, -1
gam2ml=gam2ml*real (i)
enddo
endif
c - Gamma (m/2) routine for odd m
if (m == 1) then
gam2m=sqrt (pi)
else
n=(m-1)/2
n2=2*n
facn=1.0d0
do i=n, 1, -1
facn=facn*real (i)
enddo
facn2=1.0d0
do i=n2, 1, -1
facn2=facn2*real (i)
enddo
gam2m=facn2/2.0d0**n2/facn*sqrt(pi)
endif
endif
c - t dep. calculation
do j=1, 100000
t=-0.0d0+real(j-1)/100000.0d0*10.0d0
fmt=gam2m1/gam2m/sqrt(pi*real (m))*
& (1.0d0+t**2/real(m))**(-(real(m)+1.0d0)/2.0d0)
write (6,%) t,fmt,m
enddo
enddo
end
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